Conversions
	1 inch = 2.540 centimeter
	1 year = 365.25 days 
	1 pound = 4.448 Newtons 

	1 mile = 1.609 kilometer
	1 day = 24 hours
	1 atmosphere = 1.013×105 Pascals

	1 meter = 100 centimeter
	1 hour = 60 minutes
	1 Pascal = 1 Newton/meter2

	1 kilogram = 1000 grams
	1 minute = 60 seconds
	


1. How many pounds per square inch is 1.20 atmospheres? 
Ans. 17.6 lb/in2
2. If the speed of sound in air is approximately 770 miles per hour, what is in meters per second? 

Ans. 344 m/s

3. The average distance between the Earth and the Sun is 92 million miles.  Assuming a circular orbit (Circumference=2(r), what is the speed of the Earth in meters per second?  (It takes a year.)

Ans. 29,500 m/s

